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Q.No Question ; CO Marks

Ql Consider a relatlon schema R (A, B, C, D) with me%g{;%mnal [co-4] | 5
dependencies A— B and C— D Determin r the

decomposition of R into R; ( A, B ) and R, ( C % ). losslcss or
lossy. ?@é iy, Yy,

B,

Q2 The following functional dependencies hold TFA{E@. ﬁ the relational | [CO-4] | 5
scheme R (W ,X,Y,Z)-

%y

WZ — XY %j;{f >
Y — WXZ N
i, @,} @{9 ,
Write the irreducible quu);z‘ﬂ% for this set of functional
dependencies. LY & :
Q3 Consider a relation- R. fA ’lf?ﬁ ) w1th the functional dependencies- | [CO-4] | 5
A—B G0 >
B—C ;

C—A

Find the éand;déte Key from the relation.

Q4 Whaiefxareaf)the@condnlons for a table to be in Third Normal Form | [CO-4] | 5 -

%ﬁ)‘? -Expliin the concept of transitive dependency.

G,
%,

%,

Q5 W] "Hov? o set operations in relational algebra differ from standard set | [CO-3] | 5
épératlons in mathematics? Provide examples
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